BC Calculus – FDW 3rd Edition – Section 2.2 Even Answers

Quick Review 2.2    2. 
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 (on our tests, always show asymptotes)

2.[image: image3.jpg]


   4.[image: image4.jpg]


  6.
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6. Q(x) = 2x2 + 2x + 1, R(x) = -x2 – x – 2  (See the long division process above.)

8.(a) 
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   10. 
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Section 2.2

2.(a) 0  (b) 0  (c) y = 0   4.(a) 
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 (b) 
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 (c) None   6.(a) 2  (b) -2  (c) y = 2, y = -2 

8.(a) 1  (b) 1  (c) y = 1   10. 0   12. 0   14. -
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22. both are 5   24. both are 2   26. both are 0   28.(a) x = -2  (b)
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30.(a) x = -1/2 , x = 3  (b) x = -1/2, left-hand limit is 
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, right: -
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, x = 3, left: 
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, right: -
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32.(a) 
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 (b) k is even: left-hand limit is 
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, right: -
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, k odd: left: -
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, right: 
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34.(a) 
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     (b) 
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36. c   38. b   40.(a) -4x3  (b) None   42.(a) 3  (b) y = 3   44.(a) –x2  (b) None

46.(a) x2  (b) None   48.(a) x2  (b) x2   50. at 
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   52. at 
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, 1 and at -
[image: image34.wmf]¥

,1

54.(a) 1  (b) 0  (c) 2  (d) 
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 58.Yes, since 
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 and f(x) approaches 
[image: image38.wmf]L

.
60. False, consider f(x) = 1/x  62. E  64. D  66. 
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, then divide by 
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68. sine oscillates up and down from -1 to 1.  70. 
[image: image41.wmf](

)

ln

ln10

lnln

log

ln10

x

xx

x

==

 

Quick Quiz – Sections 2.1-2.2

2. A   4.(a) D: x < 0, x >0, R: All Reals (b) Theorem: even/odd = odd, proof is easy! (c) 0   
(d) 
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, by the Sandwich Thm, limit = 0.
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